



## **Principle of Optimality**

• Assertion: If s-p-g is the optimal path from s to g, then p-g is the optimal path from p to g

• **Bellman** has called the above property of an optimal policy the Principle of Optimality- "An optimal policy has the property that whatever the initial state and initial decision are, the remaining decisions must constitute an optimal policy with regard to the state resulting from the first decision"













































$$\begin{split} \textbf{Discrete LQR} \\ x(k+1) &= A(k)x(k) + B(k)u(k) \ , \ x(0) = x_0 \ , \ k = 0, \dots, N-1 \\ J &= \frac{1}{2}x^T(N)Sx(N) + \frac{1}{2}\sum_{k=0}^{N-1} \left\{ x^T(k)Q(k)x(k) + u^T(k)R(k)u(k) \right\} \ , \ Q(k) = C^T(k)C(k) \\ J^*(x(k)) &= \min_{u(k)} \left\{ \frac{1}{2}x^T(k)Q(k)x(k) + \frac{1}{2}u^T(k)R(k)u(k) + J^*(x(k+1)) \right\} \\ J^*(x(N)) &= \frac{1}{2}x^T(N)Sx(N) \\ J^*(x(N-1)) &= \min_{u(N-1)} \left\{ \frac{1}{2}x^T(N-1)Q(N-1)x(N-1) + \frac{1}{2}u^T(N-1)R(k)u(N-1) + J^*(x(N)) \right\} \\ &= \min_{u(N-1)} \left\{ \frac{1}{2}x^T(N-1)Q(N-1)x(N-1) + \frac{1}{2}u^T(N-1)R(k)u(N-1) + J^*(x(N)) \right\} \\ &= \min_{u(N-1)} \left\{ \frac{1}{2}x^T(N-1)Q(N-1)x(N-1) + \frac{1}{2}u^T(N-1)R(k)u(N-1) + J^*(x(N)) \right\} \\ S.tom(sugnon) \\ \textbf{Matrix} \textbf{$$



